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Read the following passages and respond to the questions that follow each
passage. Your responses should be based on the passages.

YA HATR 19 5
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Questions number 1 to 5 :

Between the thirteenth and the sixteenth century, European feudal lords
accumulated large amounts of money by exploiting the serfs. The accumulated capital was
put to newer uses. They gave financial support to explorers who discovered new lands and
routes. Columbus crossed the Atlantic Ocean and discovered the New World. Vasco da
Gama circumnavigated the African continent and discovered a safe trade route to India and
the East. One of the ships in Magellan’s fleet returned to Europe and proved that it was
possible to circumnavigate the Earth. Another use of the accumulated capital was the
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patronization of great artists like Leonardo da Vinci, Michelangelo and Raphael. These
artists revolutionized the arts of painting and sculpture and represented the human body in
great detail. Artists like da Vinci also studied anatomy as it would help them represent the
human body accurately in their art.

Anatomy was not the only science that evolved in this period. Alchemists who
wanted to find the Philosophers’ Stone and the Elixir of Life ended up discovering various
new elements like Phosphorus and Chemistry evolved as a Science. Copernicus proposed
that Sun and not Earth, was the centre of our solar system. Scientists like Kepler and
Galileo used the experimental method to prove him right. They believed that the book of
Nature was written in the language of Mathematics. Apart from the various discoveries,
Scientific Method itself evolved in this period. Scientists proposed an idea, conducted
experiments to prove it, recorded the proceedings of the experiment and kept the records
open for scrutiny by others working in the field. They believed that man had an almost
unlimited potential of changing the world for the better. Though the Church was immensely
rich and powerful, people began to discard a life of blind belief in destiny and a Spirit of
Inquiry evolved. The new ideology of Humanism emphasized the capacities and efforts of
individual humans. European scholars revived the classical Greek and Roman texts and
popularised them with the new technique of printing developed by Gutenberg. The word
renaissance means revival. All these interrelated phenomena are collectively called the
Renaissance.

1. YeseiEd IS

A, Wi 3 Yo wifge=h geaE

5. Tafees gei=n 39

F. HHEdEEET o

3. SE/ydEeET

(1) =fawd (2) 9, FHAMTE
(3) &, g (4) safh=

Renaissance means

a. Beginning of Greek and Roman literature

b.  Rise of the Spirit of Inquiry

¢.  Development of Humanism

d. Decline of Church

(1) All of the above (2) b,candd
(3) a,bandc (4) bandc
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According to the above paragraphs, what are the factors included in Humanism ?
a. Importance of individual capital ‘
b. Importance of individual efforts

c. Popularisation of new printing technology

d. Belief in human potential

Which of the statements given above are correct ?

(1) a, bandd (2) b,candd

(3) bandd "(4) aandc

3. A W fRye 9 g ?
. Y& geat gEmr=ar geavrt aed s
. == et T S e
(1) ®&d A
(2) SFd o
(3) wIvrad! AT
(4) 3 T A

Which of the following statements is/are correct ?

a.  Earlier the Earth was considered to be at the centre of the solar system.
b.  The earlier rich church got impoverished later.

(1) aonly '

(2) bonly

(3) Neither anorb

(4) Bothaandb
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From the paragraphs above, which of the following statements are true ?

a.
b.

C.

d.

(1)
(2)
(3)
{4)

Scientific development is closely connected with the development of arts.
Study of Anatomy is a must for the arts of painting and sculpture.

Changes in the printing technology played an important role in bringing about
the European Renaissance.

Capital can initiate development in arts and sciences.
All of the above are true. '

a, ¢ and d are true, b is not true.

a, b and ¢ are true, d is not true.

a, b and d are true, ¢ is not true.

5. e faumnih s @ g ?

H,

.

(1)
3)

RS DUTEIATE WY FAEl.

Tl Ant Sy dnT= At TeseEd! JURT wemet g e
et

Has 3 (2) Has =
Tar e (4) F3FAF

Which one of the following statements is/are true ?

a.
b.

(1)
(3)

Gutenberg invented the printing press.

The serfs were exploited by the European feudal lords to discover new routes.
a only (2) bonly

Neither a nor b (4) Bothaandb
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Questions number 6 to 10 :

Human possesses some rights given by nature itself. The concept of “Human
Rights” is developed in modern era with the object to provide them to the citizens of
all countries around the world. Human Rights include right to life, livelihood
alongwith speech, association and religious belief. During 1215 the law known as
“Magna Carta” was passed in England. Since then the concept of control over the
rights of the State took birth. It was more explained due to the Petition of Rights of
1628 and Bill of Rights of 1689. The object behind the American freedom and
American declaration on fundamental freedom was also to protect the human
rights.

In 1948 the Universal Declaration on Human Rights was made by the United
Nations and at the same time framing of the Constitution of India was going on
due to Indian Independence. The framers of the Constitution were influenced by
the provisions of this declaration and hence some of the provisions of the said
declaration are made in the third part of the Constitution of India. As per Article
32 of the Constitution, if the human rights which are given as fundamental rights
to the citizens get violated, it can be challenged in the Supreme Court. Due to
international pressure and developments the Protection of Human Rights Act was
passed in India in the year 1993. The National and State Human Rights
Commissions were established by this Act. If human rights are violated, recourse
can be made to filing a complaint to the National or State Human Rights

Commission.

The rampant viclation of human rights of women can be seen in India. Though
the Constitutional provisions regarding human rights of women are made
alongwith special laws made by Government, due to social mentality of male
dominance, women are given secondary status. Well known economist Mr. Amartya
Sen had written an article “Missing Women” in a British Journal in the year 1992,
where he mentioned that ten crore women are lost. Lost means they were killed
before taking birth as female foeticide. Education is a big tool for change. Economic
and social empowerment of women can be done through that means. The decision
given by Supreme Court in Vishakha case has not been yet implemented at the
major places of employment, hence the awareness of women laws is essential in the

society and especially among women.
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Choose the correct statement.
a.  All human rights are legal rights.
b.  All human rights are fundamental rights.
c.  All fundamental rights are human rights.
(1) Only ais correct (2) Both a and b are correct
(3) Only cis correct (4) All are correct

7. YRR S faye 3 e 2
9. cEITHONE e e nikeravas e AfUw S S
1) A 2) wH

(3) IUrE ATE (4) F3F A

Which of the following statements is/are correct ?

a. Education of women alone can prevent violation of their human rights.
b. Women should be more aware of the women laws than anyone else.

(1) aonly (2) bonly

(3) Neither anorb (4) Bothaandb

8.  yddhl wive frum ov AR 2
T, AR T A SR VTR RS,
(1) o A (2) wFd d

(3) R ATEY 4) FATTAA

Which of the following statements is/are correct ?
a. Violation of human rights can immediately be challenged in the Supreme

Court.
b.  The Americans got independence only to protect the human rights.
(1) aonly (2) bonly o
(3) Neitheranorb (4) Bothaandb
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(1)
(2)
(3)
(4)

affs Snfgrers wm s

FF At AECRTHEA SAAAGIGU 813 IhaTa

e SR God 3T o = Ieaod ST 318 AT YehdaTd
Tl HIvTHE T8

All fundamental rights are

(1)

{(2)

(3)

(4)

Part of universal declarations
Enforceable by Supreme Court only
Given to all persons and they can challenge its violation

None of the above

10.  HfEen gecliw ame B TR

(1)
(2)
(3)
(4)

File HEE TR e

v fgeTeTE TSR
At =rTeaTeA g
ol THE e

Women empowerment can be done

(1)
(2)
(3)
(4)

by making strict laws
through universal declarations
by Supreme Court decisions

None of the above
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Questions number 11 to 15 ¢

It is also good to love: because love is difficult. For one human being to love another
human being: that is perhaps the most difficult task that has been entrusted to us, the
ultimate task, the final test and proof, the work for which all other work is merely
preparation. That is why young people, who are beginners in everything, are not yet
capable of love: it is something they must learn. With their whole béing, with all their
forces, gathered around their solitary, anxious, upward-beating heart, they must learn to
love. But learning-time is always a long, secluded time ahead and far on into life,- is:
solitude, a heightened and deepened kind of aloneness for the person who loves. Loving does
not at first mean merging, surrendering, and uniting with another person (for what would a
union be of two people who are unclarified, unfinished, and still incoherent ?), it is a high
&eed] FHIHIEIS ST / SPACE FOR ROUGH WORK P.T.O.
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inducement for the individual to ripen, to become something in himself, to become world, to
become world in himself for the sake of another person; it is a great, demanding claim on
him, something that chooses him and calls him to vast distances. Only in this sense, as the
task of working on themselves (“to hearken and to hammer day and night”), may young
people use the love that is given to them. Merging and surrendering and every kind of
communion is not for them (who must still, for a long, long time, save and gather
themselves); it is the ultimate, is perhaps that for which human lives are as yet barely large

enough.

11, oiEehredr FeRga gean sHedie 31 0l U HH T8 HI,
. FIE SRR a1 EET HiofE] g SRR I H& Iehd AE

9. o Yo sifan vher AR wrEEdl W sSadial 3O §d i $Ed Ha-dl 941 HUd
.

%, o foermen gy de armal i o aF e Fm R @I v .
T.  AEE Sadie TEd-Sa §a h! Thaeedl arTatd 9 Sat STH SHUdT $5% HUd AN,

FHISTH! ol Hroy/o T R/ ?
(1) wH 9§ (2) & 3T =®
(3) o IS | (4) = aTfiT T

According to writers’ thinking to love another person is a difficult task because
a. one cannot love another person without any purpose or aim.

b. it is the final examination for which human being prepares oneself after doing
all other tasks.

c. it takes a long time to learn it and it is difficult to work with courage and

perseverance.

d. it requires a person to gather all his/her energies and strive for completing all
other tasks.

Which of the above statements is/are correct reason/s ?

(1) bonly (2) bande

(3) Allbuta (4) candd
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farerd.
(4) oHeR TN e T IS HHRIATS! H5 FIT HEA 99 HIEAT e,

How does one learn to love ?

(1) Person has to remain alone for a long time or may be for all life for developing
capacity to love.

(2) Person learns to love by avoiding merging, surrendering and uniting with
another person.

(3) Person learns to love by working hard as if she or he is preparing to appear for
the final examination.

(4) Person learns to love by doing sacrifices and working hard for other persons
who are needy.

18. “gEEl WA ay fava S0 U W w0, o SEe fafadl deer e s v
J1ETe ?

(1) = g Ses waE 19 S gETd fRue ey, e aufda w0 Je fhan
ZHATN TR B0 Togan girararen fatiy Al aE.

(2) @S FIEq AR hl SHHIN FA:D SR AaA gHAT SHaEId! THidq el At At fea
dt wrEm gE@ U,

(3) i@ Gaaa ITWET Hi WA= TIES STF HEA go=1 adiar formed I .

(4) @ REATE S A I el SHh GEAT SATHIGK W HEd degl ol gEAN SHRAIeH
A W S FRvE o A1 gEAT SRR STt SHTT 39 e

What may the writer be wanting to say when he writes, “to love means to become
world in himself for the sake of another person” ?

(1) Writer contradicts with his argument that love does not mean merging,
surrendering or uniting with another person.

(2) Writer suggests that a person should surrender his or her personal life for
another person so that she or he could be happy for ever.

(3) Writer might be suggesting that a person should expand her or his perspective
towards another person unconditionally.

(4) Writer argues that when a person loves another person then she or he
considers that she or he possesses that person and therefore she/he can keep
him or her happy throughout life.
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(1) THEH WU § °UI= °E e SRhie 99 ReEen 9 G0 g srhiat 30 e
qES .

(2) THGEF VU F HUTS W HIE0) AR T T SIRIGH W@ S1Ed TS Sl g
aRufar T AT Hed .

(3) UehHRIX S H0ATHIE Uehd UF YTEUT] S SIxhi-l w&d:a1ed S el g3 3
FSH I FEA T o] AT THHBRIG a9 el Jaad.

(4) TEEH TSI 9 9T U9 HEERT SRh WA ST sgradl 1 gHe
U9 AT AT SHAT NI HUeT e gid 3TEml.

How will young persons become capable of loving another person by hearkening and
getting hammered ?

(1} Hearkening and hammering makes a person capable of learning to love and

then love another person.

(2) Hearkening and hammering helps a person to look into one’s inner self and

become aware of it and attain perfection by spending time alone.

(3) Both persons aiming to love each other should become aware of their own inner

self and by working hard they expand their world for each other.

(4) Hearkening and hammering might be helping one to be aware of one’s self and

acquire all capabilities required for loving another person by self developing.
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TR B/ e/ aftegre Gewt sifife s 2

(1) T el HIVAE! Faerd g,

(2) % 9 a1 Td A TR,

(3) Fd § Mg 3.

(4) T T |4 FAMHEa 3T,

Writer writes, “... for learning to love one needs to spend long time or may be life in

seclusion ...”. This means that he assumes that,

a.

it is not possible to learn things in the presence of other persons as they
influence our thoughts.

in seclusion a person gets time to reflect and examine his or her personal
experiences.

seclusion protects a person from other persons nurturing different meaning of
love, that is not matching with her or his meaning of love.

Seclusion allows a person to listen carefully to one’s inner voice, widen one’s
world for becoming capable of loving.

Which of the assumption/s is/are implicit in the paragraph ?

(1)
(2)
(3)

(4)

None except d is not implicit.
All but ¢ and d are implicit.
Only b is implicit.

All except d are implicit.
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Fglay o fowmar ardia onft7 fyspm oTgM @ oTTew, Teletd Ao g STshatedl
St TR REEE= it e & dade e e,

TE9sRY (Innovation) 29 A 3Tcdd CHETCHF IATERHMT GHR AUHEIER IO 3R 9 Fdd
BoamEig w4 T R e TauE B9 owd. geumT SaeETde WEgvan 39,
iferveryel sEETRes sl fhat Sirat T gdamETT AT HaT Wed e O HETY ST 356 9
FHHATRAT HrTqeiehe Sad Aleeivs i fawm uihy 7ed wgarht gia s,

ATy STvefl Uhld TR TRV HEIshATEAT FeAT WIAHETST Sy U0 ST WK R HEEH
TGN 3§ TEEHES g4 s e ot @il AHeed] wHl I9E e SIGARE 9
a1 Rt Sl FTev @1 ST |

gearE e . "Arfie fhdied Svehtd AdiugH 3 qeies Il fashfiarear avfiers g
- e i seogd o sifus w oo s ifgwar 9 wisaw wh Wqu svEEn @ TEH
FOTEEE A T A8, HEATEN &1 A0 Whndl R ATE. AUE A9ed qadie Sued d
TAHA THEER fer e S STTavaes TRIE AE higd oA T AT, TORAE AT JE
ITHNTE G HATAT SR A8

A YHE TARTE A e Y T WE Al HUEA TR gHe e
HIEHEE aTiel! qTfestd @ T WaguR) M7 wiatogea smwad of9fl et gee 3 Tads fam
sl yRam e Wd TEmeRN  hMENEl e faaneefl gmed. Gefim awaerd
Tirere omareff 3TRg ST WAWHTARIh GERHTAE SO e wved fasre Sien i %
.
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Questions number 16 to 20 :

Innovation is going to be critical for India not only for growth and competitive
advantage, but also to ensure that our future development is sustainable and inclusive. Our
country faces a range of unmet needs related to critical areas such as health, education,
agriculture, energy and skills. It also faces immense challenges related to demography, with
55 crore below the age of 25 for whom opportunities must be provided, disparity, driven by
the multiple deprivations of class, caste, gender, and region, and the challenge of

development, with the urgent need to lift crores of citizens out of dire poverty.

Innovation is going to central to providing an answer to these most pressing
challenges and for creating opportunity structures for sharing the benefits of the emerging
knowledge economy. Affordable solutions, innovative business models, or processes which
ease delivery of services to citizens will allow more people to join the development process

and also enable looking beyond the conventional way of doing things.

However, our unique needs call for a new model of innovation that focuses on
affordability and inclusive growth and lifts people at the bottom of the pyramid out of
poverty and deprivation. For decades, the trajectory of innovation has reflected the
priorities of the developed world focusing more on the desires of the rich, and directing
ecosystem of talent and capital to satisfy them. India cannot follow that path. Qur
innovation must instead focus on the poor, and their most essential wants. The old
consumption-intensive approaches cannot work, given the sheer scale of our needs and our
vast population. Instead our innovation needs to be frugal with scarce resources, affordable
for our poorest citizens and environmentally sustainable. The work of India’s National
Innovation Council reflects this thinking. Their effort has been aimed at creating an Indian
model of Innovation, of the people, by the people and for the people. Only through this
inclusive approach where people are beneficiaries in knowledge creation and generation can

we hope to create more sustainable models of development.
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16. YRAT HI¥ey [T Y Hgearan 38 HRO

(L)
(2)
(3)
(4)

A Toh HUTUH <V I8 T I% TG 91 3R,

AT HATREA TES TGS 50% TIT 307 1o 2.

WIRATS Seheea ga At oM § SRl Sy W=a1 el o,
TEV ARTEAT Tt IqTTed HEA 0 HTAIIF 7R,

Skill development programme is important for India because

(1)
(2)
(3)
(4)

India is an Agrarian Economy with a lot of unmet needs.
Services sector contributes around 50% of the Gross Domestic Product.
India has a large population, the majority being in dire poverty.

Young population needs to be provided with opportunities.

17. & ®n fBye 99 ong 0

.
.

(1)
(3

HT TT ATV s TR USgeAT TRl YLer.
QeATeaT e faehrm=aT Aige T9edT TAlatn=T <89 He.
F A (2) wad g

IO ATET | 4) TR HATT

Which of the following statements is/are correct ?

a.
b.
(1)
(3)

So far we have been meeting the needs of developed countries only.
Our present model of development has degraded our environment.
a only (2) bonly

Neither (4) Bothaandb

18. g FR Fuw i o 2

H.
.

(1
(3

TaEY fwEmdl A T 3 Hieeeat e hied HUATE 79,
HHig ST ATTHIRAF IATEAET o1 e el TE.
Hed H (2) ®Fd 9

TR T8 (4) AR AT

Which of the following statements is/are correct ?

a.

b.
(1)
(3)

For an all-round development we should concentrate on our poverty and
population.

We should try to produce more and more with less and less.
a only (2} bonly
Neither (4) Bothaandb
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19. adeht wiv fqum 3 o 2

. T Jaar s fem Ty yha TTE.

¥, 3T i vRarE faes geey Fog.

(1) %7 & | @) wwE

(3) FWIEl T 4 THAAT

Which of the following statements is/are correct ?

a. Without innovation, we cannot progress.

b.  So far the development in India was not inclusive (all encompassing).

(1) aonly (2) bonly

(3} Neither {4) Bothaandb

20. e SR faum ge#re o 2
H. I Udd U0 FHATRS [ 8 e Togdl.
§, T GgHITE 99T TEd fashrd g v

(1) %&Fa A
(2) BEa 9

(3) IR T8
(4) TR HAIT

Which one of the following statements is incorrect ?

a. We have not been adequately innovative so far.

b.  Unless the iaeople join in, we cannot have sustainable development.
(1) aonly

(2) bonly

(3) Neither

(4) Bothaandb
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TWES TN ATl GEET AR (Yo AU SgATY guR) M argEdia W (4)
FEEYHMS ot Afemear J1S IHAT 3 o HU HIS AEAE. TIEIH BT e TN gHeve 24
(& o6 gu). TEE aOR ATt Sihar e (S W aar ) Jvargasht ardt s wehd. TR

TS JEgue Fwdedt v Fmin e fieR smiene ang @R wow ey
TeteRT=aT FHENe (Ja1. Mefvem Awiene) fafwia o wmm. oo e acdfiem amew 3
FedT TS Tehd S Td, ERIgiTae 31ae Jei Afyerdt sraa.

HTA: S ST THET T 3es Seiid o S I FE guicwsE et ¥
Seqreral fRdiemerdl e ae. 3 fHfcueRR v (Geret ol dNad!), Thade el
feriftsfors wie & fafsia woe wfdm st aam w@, org o=,

W & o IgE uamdia suevE oM sHieawRn oTfiwdl HRE oM, I oM R amg fR
S BIEHT UEH MR, ¢ hivd gur=Al QU fRfietoEndl Sugw Aeea gEeTTer wsef i
BId @ & et oA fmio greret fagrerel 38 8w qmr.

AferdgR feur= TvaT (qUS) SEEITH RIS WIS daN B, ™ Zasier fam
Tt TuTdeam= W10 oA ITEATH HERA Bld AW Soideidh Tiaane qictehd ITHTG H564 T8F
o FARR FA. G FA eI WA IEAM ameen A9 wror faga feufow w v gE=n gem
T TEimT ZTehean STa. THTHT JEIH0 ST YOI el & A, S IRUTHTT 3THT g8E (3.
Yogar) Trasen wma g gEs 9 e TRy vk g verenEen g weha ArEa. & i
aﬁmwwﬁmm@aﬁmﬁa%wu@u&mﬂmﬁﬁmsﬁa?ﬂﬁgﬁ
Ty o7eft ittt .

Questions number 21 to 25 :

Aerosols are dispersions of liquids in gases (like fog and many sprays) and of solids in gases
(such as smoke) : the particles are often large enough to be seen with a microscope.

Emulsions are dispersions of liquids in liquids (such as milk).
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The preparation of aerosols can be as simple as sneezing (which produces an aerosol).

Laboratory and commerical methods make use of several techniques.

Chemical precipitation sometimes results in a colloid. A precipitate (e.g. silver iodide)
already formed may be dispersed by the addition of a peptizing agent (e.g. potassium
iodide). Clays may be peptized by alkalis, the OH™ ion being the active agent.

Emulsions are normally prepared by shaking the two components together, although some
kind of emulsifying agent has to be used in order to stabilize the product. This emulsifier
may be a soap (a long chain fatty acid), a surfactant (Section 23.11), or a lyophilic sol that
forms a protective film around the dispersed phase. In milk, which is an emulsion of fats in
water, the emulsifying agent is casein, a protein containing phosphate groups. That casein
is not completely successful in stabilizing milk is apparent from the formation of cream on
the surface : the dispersed particles coalesce into oily droplets which float to the surface.

Aerosols are formed when a spray of liquid is torn apart by a jet of gas. The dispersal is
aided if a charge is applied to the liquid, for then the electrostatic repulsions blast the jet
apart into droplets. This procedure may also be used to produce emulsions, for the charged
liquid phase may be squirted into another liquid.

Colloids are often purified by dialysis. As in the discussion of Donnan effect membrane (e.g.
cellulose) is selected which is permeable to solvent and ions, but not to the colloidal
particles. Dialysis is very slow, and is normally accelerated by applying an electric field and
making use of the charge carried by many colloids; the technique is then called
electrodialysis.

21.  SATAYUIET €L &1 — <A1 HedH qfHfd el S wrehal
(1) TahT &7
(2) fToem gehia &3
(3) TUhghIT &
(4) T oF A
Rate of dialysis can be enhanced with the help of
(1) Magnetic field
(2) Electromagnetic field
(3) Nuclear field
(4) None of the above
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22, UEE (3evH) THIHAT HIvea T qER HOATE T Tgd] ded aTe S IR 7

(1) (2) ¥

(3) wE™ (4)  FCHIHE,

Emulsions can also be prepared by using the principle similar to the preparation of
(1) Sols (2) Gels

(3) Aerosols (4) Emulsifiers

23.  gUTSHT JENFTER STH S GUam

(1) 9iFm s (2) <EE TR

(3) T ioamE (HE) smwmm (4) HFICHT TR

The cream obtained on the surface of milk is

(1) dispersed proteins (2) dispersed fats

(3) dispersed casein (4) dispersed carbohydrates

24. P TYEIRIT ZEEATH] SR THETE AT BT
(1) dIETR R ZaTEEd JAEhtd HodH
(2) za i e iy guN g ugTaTed YT heaH
@) za ST T A A S fi TR e
(4) e Qe e
Aerosols are dispersions of liquids in gases formed by
(1) Tearing apart a spray of gas with liquid
(2) Tearing apart a spray of mixture of gas and liquid with solid |
(3) Tearing apart a spray of mixture of liquid and solid with gas
(4) None of the above

25. & 3iferal siew ordi=an sesmyd OeieRuean IR sy oTEE!

(1) FHEgH ATHemH (2) ErEgifeae e

(3) ETEGISH A (4) T THa Al

In the process of alkaline peptization of clays ____ is the active agent.
(1) Hydrogen radicals (2)  Hydroxyl radicals

(3) Hydrogen ions (4) None of the above
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VITERT= e

A TIHIMD e FTeATaEAq 2. Hshlesld, Tguret 1914 <07 YW AL ToY
WM AR gEAl Tacied! SiwET WIWE BT, WieWiEl uWed Tl Wy gRw @ e
TIRRUT=AT sqTied] Uefihsel AMel Tel; 3 WO @ie=d1 76 SHagRia Siieh e 3auvam™
AU THY TR 3 Wiaffes swm aed Tead. BEw Afw A snue BT g "W
HIAA qIE I N HIST AR T FE FTEl FBEE T e, fhar wan = &
Y S 91 78 0F Toied T I % w ® Bt wema wee veifi g oM. wehel
AR W] Il auiey Wk sl it ame glivea wE wnTa diemed U SEEryn,
Faad! anfr Agw onft srawie wemet e 2. Wy @ anflesl sifterh gem: wwm
TSI WA B9 IE SN RN TSdeH dsiadl Dty o@ ggfat st wifm S
Freagiht fResn (Ifm wvmR) deean i W wR ot wuea ol sl wmag emifEen
m@m.mmwa@wmmwmmwﬁﬁmmm
S TS FM, FAH LA TSHIS T GHag A HaAT Id Fogdl. g ¢ e Tedw:
BT T TR ST A, SR T S e T 3 TR SR T A R,
HIAEET TSI ST SHEETIR BA FigT w19 fohar § 2 Hia omed e T st
Tgasitan & Td o1eft FEere e Toud.

Question number 26 to 30 :

The beginnings of a science

The science of international politics is in its infancy. Down to 1914, the conduct of
international relations was the concern of persons professionally engaged in it. In
democratic countries, foreign policy was traditionally regarded as outside the scope of party

politics; and the representative organs did not feel themselves competent to exercise any
HTT FTHTATEE AN / SPACE FOR ROUGH WORK P.T.O.




Wo5 24 | A

close control over the mysterious operations of foreign offices. In Great Britain, public
opinion was readily aroused if war occurred in any region traditionally regarded as a sphere
of British interest, or if the British navy momentarily ceased to possess that margin of
superiority over potential rivals which was then deemed essential. In continental Europe,
conscription and the chronic fear of foreign invasion had created a more general and
continuous popular awareness of international problems. But this awareness found
expression mainly in the labour movement, which from time to time passed somewhat
academic resolutions against war. The Constitution of the United States of America
contained the unique provision that treaties were concluded by the President “by and with
the advice and consent of the Senate”. But the foreign relations of the United States seemed
too parochial to lend any wider significance to this exception. The more picturesque aspects
of diplomacy had a certain news value. But nowhere, whether in universities or in wider
intellectual circles, was there organized study of current international affairs. War was still
regarded mainly as the business of soldiers; and the corollary of this was that international
politics, was the business of diplomats. There lW&S no general desire to take the conduct of
international affairs out of the hands of the professionals or even to pay serious and

systematic attention to what they were doing.

26.  AAWET FHEHT Hiw feE TTES B ?
(1) o S
(2) rifehde &
(8) Wi, T TETCEn TR gt T Seet feted daier ST
(4) onfyETE ST

Who were more aware about international problems ?
(1) The British people
(2) The Americans

(3) People from countries like Germany and France connected to each other by
land routes

{(4) Asians
ma?rqmﬁrm { SPACE FOR ROUGH WORK
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27, IarEEEs e 3 fepd g wear Y gommsfie SR et T BN

(1) #g Rigoms

(2) STeEEd

(3) I ITH VT AT T T Bl

(4) areafas fRrda s TwoR

From the paragraph we can conclude that the leaders of the working class in Europe

were

{1) Great academicians

(2) Idealist

(3) A part of a group having a good understanding of war

(4) Unable to grasp the reality

28, w@refler ¥R woR/dt fumA St A ?

H.

4.
%,
3.
(1)
{(3)

HIel.

T o WU AR (2) ud fun R ARa
e T SIS 3R (4) R § 17 o FU TR

Which of the following statements is/are correct ?

a.

(D
(3)

Democratic countries studied international relations thoroughly in the first
half of the 20" century.

Labour movements decided the foreign policies of European nations.
US Constitution promoted the study of international relations.

Universities and intellectual circles had little impact on foreign policy
formulation.

Only a is correct (2) All statements are correct

Only d is correct (4) Onlyb and ¢ are correct
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26
fermmea yrashT=an dfeea G SRRl WAy G B &7 g
(1) T &=
(2) fafa weam
(3) A
(4) Ty @
In the first two decades of the 20 century, foreign policy was a realm of
(1) Political parties
(2) Legislature
(3) Soldiers
{4) Foreign offices

30.

AW gafaar $

¥, O UHE ghig Sishal & e e g
F.  JAdE FEIR e T HROTES e B,
T Wi geafia o@ Wy @ g

(1) ad 37 AT § T Ed

(2) e & ST § SIS 3TEd

(3) w4 faum stk amRa

(4) hed g FE AR

The paragraph suggests that
In general, Europeans were unwilling to work in the armed forces.
Foreign invasions were commeon in European countries.

c. Europedn workers mainly talked about foreign policy.

d. USA had a well-developed foreign office.

(1) Only a and b are correct

(2) Onlyc and d are correct

(3) .All statements are correct

(4) Only dis correct
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9 AT 31 32

Wm%ﬂsmaﬁm@aﬁﬁawﬁhm@mwmm
frtor 81, seEnd arerdl, Afgw 9 7 Shed Stamwy fmir wwE. wEE EReue gEm weE
g, Vet 9 Sfag e I @ U Id@. HfaE 9 3 IEwEsE SIeUEe N .
(SIS TR ATTTeheiet shiedTdiel Siad ], gaeadt 9 et g Ygr ), SRAE ST d
RIS TgA! Hed, Neh SYTar, THEHS FATGOT AT FeEFF S, SREHE ST
e foedl Staveney we IR 3, g SN v, TR ekl W TEmE e feEer arae
TS T, Tl decd [HAdES 9 el glarsa S WfEe IuTen R e dshE B
e, SR 3 fRve 7 ufRgR wER @ 9 O whuged fuowe eeedlim s se
weEEged Hyd fHed Sgretnd oA, 3W, SIH) ST, STHUTY THGedl IAed, TEUSH e g8
TEAR TR, I dogeld g9 gEWw gEssAia fffdedt Fe 9w g 9w B g8
TETIA 3T T ARG U TRV SOl A% e 3Te 9ig weR fedrfta s daede fisfia
13T S0 o SEhed BT TSHET WISAT THIOTEK II9Te] WA, TET T HEAAT HEugd) qed
I FeT gremdie frea g1 gesmn fhvas yipa @R Feea Ifaw g fifildne wgam
TS Tohd ATE. TR Fg WEIWE IR $6A TRV ATRA A0 I AR W e sgar feIa
fisha TR a9 B, TS Teere aremE Scafeld S QLR HiEA HATFESE 9 BEgIhE Tl
YOO g2 B, SEfSEe 99 9 e qereiord gresedihye w wfhigR ourR S ad enfor 9
IO FATIROT IO 1qiet AR 4 TR Wi 3R,

Questions number 31 to 32 :

A biofuel is a fuel that contains energy from geologically recent carbon fixation, such
as plants. These fuels are produced from living organisms. Examples of this carbon fixation
occur in plants and microalgae. These fuels are made by a biomass conversion (biomass
refers to recently living organisms, most often referring to plants or plant-derived
materials). This biomass can be converted to convenient energy containing substances in
three different ways: thermal conversion, chemical conversion, and biochemical eonversion.
This biomass conversion can result in fuel in solid, liquid, or gas form. This new biomass
can be used for biofuels. Biofuels have increased in popularity because of rising oil prices
and the need for energy security. Biocethanol is an alcohol made by fermentation, mostly
from carbohydrates produced in sugar or starch crops such as com, sugarcane, or sweet
sorghum. Cellulosic biomass, derived from non-food sources, such as trees and grasses, is
also being developed as a feedstock for ethanol production. Ethanol can be used as a fuel for
vehicles in its pure form, but it is usually used as a gasoline additive to increase octane and
improve vehicle emissions. Bioethanol is widely used in the USA and in Brazil. Current
plant design does not provide for converting the lignin portion of plant raw materials to fuel
components by fermentation. Biodiesel can be used as a fuel for vehicles in its pure form,
but it is usually used as a diesel additive to reduce levels of particulates, carbon monoxide,
and hydrocarbons of diesel-powered vehicles. Biodiesel is produced from oils or fats using
transesterification and is the most common biocfuel in Europe,

PoedT HFHEIST AN / SPACE FOR ROUGH WORK P.T.O.



W05 28 A
31. g&ia Frd fgam I o 2

H. e St qeme arel o IR,

F. T NI, TEEAS @ ATUHERT TYH TR, 59 T aREd 399 TR .

(1) w3

(2) wFF

(3) IV AR

(4) & anfor 71 g

Which of the following statement(s) is/are correct ?
a.  Carbon fixation is a comparatively recent phenomenon.

b. Each of the thermal, chemical and biochemical conversions results in solid,
liquid and gas form of fuel.

(1) Onlya

(2) Onlyb

(3) Neither anorb
(4) Bothaandb

32. gIetd Hor faum 9ng em 2
¥, 3w 9 oo arell uy ey wiokd AT
(1) wad A (2) o
(3) HwTg! TR (4) o anfor 7 g
Which of the following statement(s) is/are correct ?
a. Biofuels were not produced before.
b.  Biofuels are not obtained from non-living things.
(1) Onlya (2) Onlyb
(3) Neitheranorb (4) Bothaandb
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T9 HUTeH 33 9 37

T g - i, OYE - g 9 wiee Ouwed anda: fBR wEee
WEEEY 3EA. O (OR WA Hhie eSSl §9d. S|, 91 Hew fors
(stability) e I3 ? Tl fRmama’ (social norms) 3T A IR GE AR Frmﬁm
Frama & guS-GEERT T TEETET e 3! dF I,

i fam v TaeTde fafay vfiesr afaur=n sy vt w8 g s
from Ba. weveR 4 adafaws Frm ek, FEWTE qES TUH SR qEiade 9 ST g6 |
ftrehT B S O] AT, T TS TIFTET A (content) WHINGG R g atwal. 3. fucar=ht
qftreh! Teve e e garsht w8 ard Afawefien e g, ST wigee fafag sife
WEHST 9a g omiad HEm s o1 sengeue o smera, ufdoasf, s,
FEE-gE, I wEnRt F arme AEed g e @ Artevd o fear adAfavas amed
STHETH, |
2 At e fowa A, rRvee e amd A, saed e ST Tate e snf g
T, 3 ey R fand g vt fEmrh sarean S il eft s, framy adee P
. Fme Feaamrs g s o el IHa. SR FE e @ | e
T Freeenss e, 391 faensatdht fraeren s weTeIEa. @ Furers e e ads w9
Tam, f #8 an 1@ § "inaa. 39 90 e A4, et sgert av @ 3. e e wes,
e, afifeerdt snfir wmarfoes Tumemy swmaa. wRfeigey, yfasaey, 999 Feed/Femmm &
gad. I Frd sEHERTT dead Add. ff Ty foR swae. wd wmede fem whemde
s B, e fafay yer amea. @i (Folkways), Sieifd (Mores) @ ®9e (Laws) 91
YA T A et TSRS . TESIdi S9od] 9 gagen adars e wee aure
e o ot 9 TaTeTen ¥ YT e <0 # AT Jfier e s 9n e,

33. it Framarn & sefia ¥5a 2

T, GG TR S e T A e

%, G HH IS A qewidier quiEsie dw

T,  HHIRNS GaAfayas e

(1) ¥, %9 g [us o (2) &, 9, %, T faud 9y
(8) Hagfqun am (4) & & fqum I
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34. Ao e sy e wwEE 2

9. O] e

.  SAFIEA FaATe

8. = = gue e

(1) & 31 foam sg=w 3R (2) & a7for & & faens st 3med
(38) oF anfor 5 & faumd s 3MEq (4) 3 a7 = & foym™ sOeR aRa

35, g fHawe wfeh TUETY AT
. =afEIEr seaa
. YoIH ST e sy i i s
F. o TABEEY ST
gt umee: g feR smaE
(1) S9d ¥ (2) HATHT
(3) ¥,%,3 (4) 1, 9,%,3

36. gmfye frem wovdt e fiesr OR 9ream.

(1) SH® (2) *33

8) & ®IE (4) #,9,%, 8
37.  gwnfaeh FHawE Symen guEe gar ?

a. IR HEYT TEEey FEm

b. R

c. THT sHEERN

d. @mifas wEe

e.  HHIMSR =Tl

£ S S

g oAl

h, 3 ened

(1} b,d, g (2) ade

(3 c¢dh (4) e vd iy
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Questions number 38 to 43 :

Hyderabad sits nestled amongst one of the oldest rock systems of the world. These
granite rocks are 2500 million years old. Rain, sun and wind have for aeons, through their
collective and continuous physical and chemical actions, worked them into weird shapes.
Some appear perched upon each other so precariously that you feel some giant-children
playing at house making must have kept them there. From times immemorial they have

stayed like that without tumbling down. They will remain like that long after we are gone.

Golconda Fort was once a mere hillock, a hump of a giant camel, a mass of scattered
misshapen granite. It was sheer wilderness. There cow and goatherds used to graze cattle
and sheep belonging to the nearby villages. It was so popular with graziers that it took the
name of ‘hillock of the graziers’ - Golla Konda in Telugu, the local language. Golla Konda
later on became ‘Golconda’. Hyderabad is the daughter of Golconda Fort which stands in
ruins now, eight kilometres away from the centre of the city. The fort was built about a
thousand years ago, during the Kakatiya rule (AD 1000 - 1321) which had its capital at
Warangal — a city about 150 kilometres to the north of Hyderabad.

Rudramba Devi, queen of the Kakativa dynasty, ruled for 34 years from AD 1262 to
1296. She withstood the combined attacks of the Pandyas, the Yadavas and the Hoysalas
with the help of her grandson, Prataparudradeva who succeeded her (AD 1296 — 1323).

He too was an illustrious ruler but was subjected to repeated attacks by the Sultans
of Delhi: there were five during the two decades after AD 1303. Finally, he was defeated by
Ulugh Khan, imprisoned and taken prisoner to Delhi. On the way he committed suicide.
Ulugh Khan later became the Sultan of Hindustan, and is known as Mohammad Tughlaq.
Since his empire had extended to the south, Delhi was no longer the centre of political
gravity. He, therefore, ordered that the capital of India be shifted from Delhi to Daulatabad.
For two decades this city remained the capital of India.

38.  Which of the following statements is false ?
(1) The granite rocks have been in existence for aeons.
(2) The forces of nature have worked the rocks into strange shapes.
(3) Giant children must have stacked the rocks precariously upon each other.

(4) Though the rocks are delicately balanced on each other, they are not likely to
tumble down soon.

FEET BIHETTS! AT / SPACE FOR ROUGH WORK P.T.O
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39.  What is the meaning of the word ‘aeon’ used in the passage 7 -
(1) Hundreds of years {2) Thousands of years
(3) A million years (4) An eternity

40.  About Hyderabad, the passage states that :
It was built about a thousand years ago.
b. It was built during the Kakatiya rule.
c. It came into existence after Golconda was built.

d. It is to the south of Warangal.

(1} Only a and b are correct (2) Only c and d are correct

(3) Only a, b and ¢ are correct (4) Onlyb, ¢ and d are correct

41. From the passage, it is clear that :
Rudramba Devi had at least one son.
Rudramba Devi was a widow.

C. Rudramba Devi had at least one child.

(1) Only a is correct {2) Only a and b are correct

(3) Only cis correct (4) Only b and ¢ are correct

42.  What is the word used in the passage that means ‘strange and ugly’ ?
(1) aeons (2) weird

(3) precarious | (4) misshapen

43.  About Rudramba Devi, we learn that :
She belonged to the Kakatiya dynasty.
b. The Pandyas and the Yadavas attacked her one after 'another.
¢. Her grandson helped the Hoysalas.

d. Prataparudra defeated her and became king.
(1) Onlya (2) Onlyaandb
(3) Onlya,bandc (4) All four

Foodl PHTATST AN / SPACE FOR ROUGH WORK
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Questions number 44 to 50 :

Love is a great force in private life; it is indeed the greatest of all things: but love in
public affairs does not work. It has been tried again and again, and it has always failed. The
idea that nations should love one another, or that business concerns or marketing boards
should love one another, or that a man in Portugal should love a man in Peru of whom he
has never heard — it is absurd, unreal, dangerous. It leads us into perilous and vague
sentimentalism. “Love is what is needed,” we chant, and then sit back and the world goes
on as before. The fact is we can love only what we know personally. And we cannot know
much. In public affairs, in the building of civilization, something much less dramatic and
emotional is needed, namely, tolerance. Tolerance is a very dull virtue. It is boring. It is
negative. It is merely putting up with people, being able to stand things. Yet it is the
quality which will be most needed after the war. This is the sound state of mind which we
are looking for. This is the only force which will enable different races and classes and
interests to settle down together to the work of reconstruction.

The world is very full of people — appallingly full: it has never been so full before,
and they are all tumbling over each other. Most of these people one doesn't know, and some
of them one doesn't like: doesn't like the colour of their skins, say, or the shapes of their
noses, or the way they talk, or their smell, or their clothes, and so on. Well, what is one to
do ? There are two solutions. One of them is the Nazi solution. If you don't like people, kill
them, banish them. segregate them, and then strut up and down proclaiming that you are
the salt of the earth. The other way is much less thrilling, but it is on the whole the way of
the democracies, and I prefer it. If you don't like people, put up with them as well as you
can. Don't try to love them: you can't, you'll only strain yourself. But try to tolerate them.
On the basis of that tolerance a civilized future may be built. Certainly I can see no other
foundation for a post-war world.

44,  The writer holds that love cannot form the basis of relationship among : .

a. Family members
b.  Strangers
¢.  Neighbours
d. Business competitors
(1) Onlyaandb
(2) Onlycandd
(3) Onlyb,candd
(4)- Onlybandd
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45.  The writer calls the idea of love among nations, business houses and strangers
“absurd, unreal and dangerous” because

a. the expectation is unnatural

b. it leads to just feeling nice and nothing more

¢c. it may create groupings

d. it may lead to inactivity

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlya, bandd (4) All four

46.  In comparison with love, the writer considers the virtue of tolerance as

a. low in emotion b. unpopular
c. dangerous d. negative
(1) onlyd (2) onlyaandd
(3) a,b,d {(4) a,b,cd
47.  The writer suggests that if we don’t like some people, weshould __ them.
(L kill (2) banish
(3) avoid (4y  bear

48,  The theme of the passage is
(1) Love is not a remedy for the post-war world.
(2) Allowing space to others is the only remedy for the post-war world.
(3) We must first try to love; and if it doesn’t work, we must tolerate.

(4) Tolerance is an unattractive virtue.

49.  Which one of the following two statements is incorrect ?
a. In the post-war period if you like people — know them, love them.
b.  In the post-war period you should either love people or tolerate them.
(1) Onlya (2) Onlyb
(3) Neither anorb (4) Bothaandb

50. What is the meaning of the word “appallingly” as used in the passage ?
(1} unpleasantly (2) abundantly
(3) appealingly ' (4) necessarily

FHoeg] FHETETS! ST | SPACE FOR ROUGH WORK
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ld HeEd AESedl Famie Tedsh HeeTe] SHaEE I gy o T.C., C.A, E.E,
S.M., P.M., E.O., RO. 3i§q MM ¥ F0Iqy, 3Fhicw, WS, WieTg, Hiearg, Jo
afer garg Andeht WehT, W AaTTesAn feehteft UgaTd. FgaTd o faarfed ey e
W, St E.Q. 3118, AT Yedten Juren Semamm g sneasaen qu 39 a. wa o
g fm1, R.O. =47 Ygat AT o HIEE I8,

e =1 ueft, IR A B.O, =47 TEIET IR, g, I U9 =91 WIS 1R, < 491 R.O.
CIECEIGRI S |

e et EE. 3% 1 muEdt 39 $rEi| g, v, S S.M. TR, geE A%
HT AR, TN =1 HIS Hed, WA C.A. 3R, S Gehorat IF 3. T = 9 P.M.
.

WT.C. = S.M. Mt 99 19 ?

(1)
(2)
(3
(4)

1443

In a family of seven members, the profession of each member is different and
they are T.C., C.A,, EE., S.M., P.M,, E.O., R.O. They live in different cities
namely Nagpur, Akola, Amravati, Sholapur, Kolhapur, Pune and Mumbai but
separately. Two married couples are in the family.

Rama, who is E.O., goes to Pune, every week to visit his wife Rima, the sister of
Sneha, is R.O. at Nagpur.

Husband of Sheela is E.O. at Akola. Damu, the brother of Rama, has married a
R.O.

Brother-in-law of Sneha is E.E. and is working at Amravati. Pankaj, who is
S.M. is working at Mumbai. Damu’s brother, Madan is C.A. at Solapur, who is
the son of Pankaj. Wife of Rama is not P.M.

Then, what is the relation of T.C. with S.M. ?

(1)
(2)
(3)
(4)

Sister-in-law
Daughter-in-law
Brother-in-law

Son-in-law
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52.  ydier wifeedt Snflr wreR smeia Hiose feet stmea. 3t sforn gxfamn =i fee
a1, O GEIY 18T el cre wiele SaoH HgauaTe EEd §9d § TSR AT S
STET BT 31 e AR S AT, § FE d 3 FE TE HE RA A o
FEFESHN ATgd Ug AFEd, IO T el fafie S §1% @a| 9 W gy
TR .
Pl :
9. ek AT ST 98T HH g, IS g s Qi e B,
F. T GgE WA I §6 FRHT FHIES. FOM=T Hdl shedl TR,
i
(1) =& @ Fioshn I e
(2) a4 3 d & g HidsA I ATEd
(3) Fd 31 gl Fidsh AT TR
(4) A % T FieskA A0 AR
Read the information and course of action based on it. Choose the option(s) that
indicate(s) appropriate course(s) of action.

Information : Inactivity produces a complex cascade of metabolic changes. Unused

muscles atrophy, and shift from endurance type muscle fibers, which ean burn fat to

fast-twitch fibers that rely more strongly on glucose. Inactive muscles lose

mitochondria, power packs of the cell, which burn fat. With muscles relying more on

carbohydrates for what little work they are doing, unburned lipids accumulate and

blood becomes very fatty.

Courses of action :

a. People should stop eating food that contains large amount of carbohydrates.

b.  People should avoid food that contains fats for reducing accumulation of fats in
bleod.

c.  People should keep on doing activities that involve all muscles of the body for
remaining healthy.

Options:

(1)  All three courses of action

(2)  Only a and b follow

(3) Only a follows

(4) Only c follows

FeegT HTHTETA! ST / SPACE FOR ROUGH WORK
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53.  SNAHTH UM UH HICh T NG SAUTHT NNHAT TR TRl fashead
=T HIST TSR TR HUATT T 1R, A SRR T8¢ T HiewH! ol T8q
¥ THEdE. M YIS WX Hlee ¥ SHREE e 399, TR hiCER  Hige
TR ST O @O HEATT hE cIre HORSdIel Fd B BEd Shol. Soledl T
TN di7 FIERTH TR TS THHNAT e JSoaid Toheh UH @I JE&ard

arar 71 fapoft Ieiet o8 uA e sur s grEen =iy et

(1) 49 (2) 50 3) 51 (4) 52

Accompanying large cube is constructed by sticking small cubes of some nutrition
required by a species of insects under study. Dark places on the large cube indicate
 small cubes eaten by insects. Four insects of two subspecies were placed in the cage
along with the cube. One insect attacked the one corner of the large cube and 4te all
cubes diagonally. Remaining three insects of one subspecies attacked one cube each
on different surfaces of the large cube. Each one of these ate a line of cubes in

respective layer of cubes.

Choose the option that indicates remaining number of cubes.

(1) 49 (2) 50 (3) 51 (4) 52
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wWo5 38 A

54. P,Q,R,S, T, U3nfrVa gra =il TehedTal wIH Hld 37ed. A& IH1 Foamid! &t 1,
2 afer 3 a1 Iwerd FyuwE varn fule daen. @ Rad d I@E Iwera R S e
el 3N U 3ue Tk Al Sff e, R & Wit ang enfor faen P oanfor 1 A tash
IO AT S FED AR, S M U g S I3 37T I B Q FUSR HiH i Hefl
B 3R, P o it sedistiet o Foar w4t gt o meae e 111%?31’61?1%311% vV
Fl T2 3 AEY IR, IO TE R T W AR,

TeheqTed ST GeTl seie R ge e wom wia fasr.

(1) 3 2 4
(8) 3 foben 4 ¥F1 wm (4) wfeeht fevme sond

Seven persons P, Q, R, S, T, U and V are working on a project. They decided to get
divided in groups 1, 2 and 3 for collection of data. They have decided that there
should be at least two persons in each sub-group and at least one woman in each
sub-group. R is a woman and she wanted to be with persons other than P and T. S
and U, both men, wanted to have a chance to work only with Q. P wants to be in
group 1 to have a chance to work with an unfamiliar person. V is in group three and

T is the brother of R.

Choose the option that represents the number of women involved in the project
work.

(1) 3 ' (2) 4

(3) Either3or4 (4) Information is misleading

55. “M= Rt 913 %@ 27 O T IR OIS 317 MY “F” I Wifged D T STEvE A g

EXUIEDIDRECES S
A, ATHF A AEN, N =T ARSI Ul germ 378, W sl o et o, <t M
=t Fd 2.

q. W enfor F =t R € wper qarft o12.

(1) “ot vadia mifgdt geott

(2)  “ar anftr “a” FgrdTe AR gL

(3)  “ar fhar “g” adehl It weh miE gish
(4) “3r fhar “@” ardeht o Arfaelt gEft g

Choose the option that describes correctly sufficiency of information “a” and “b” for
answering the question, ‘How is M related to R ?
a. A’s brother, F, who is the only son of his parents, is married to W, who is M’s

sister.
b. W and F have a only daughter R.
(1) “a” alone is sufficient

(2) Bot “a” and “b” are sufficient
(3) Either “a” or “b” is sufficient
{4) Neither “a” nor “b” is sufficient

Hoey] HHEIS! ST / SPACE FOR ROUGH WORK
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56. U furg swawume v feeew famgren g v Teren fafie Frmigar gretasams
FS, Y8 TEH I T T TOATAT .- BITR SIS 1= T faeT o7

e >N, T,Y,A P, F
T 1Y, T,F,A PN
T2 -5Y,P,F T AN
T3 5P, F,ATY,N
T 4 5P, T,N,F,Y, A
T 55 P, N, T, A, Y, F - 3iftm sracamdq

I TH HAGH Uil v Faeyy O, D, K, W, G, X 3w e waimm s zveren
G, X, D, W, O, K ar3ft =ereen wefita swtomg eoar Fas.

(1) 2u (2) 3T (3) 4o (4) b4t

A symbol arrangement mechanism rearranges the input of symbols in each step by
specific rules; the example of which is given below :

Input - N, T,Y,A)P,F

Stepl->Y, T,F,AP,N

Step2—-Y,P,F,T,A N

Step3—->P,F,AT,Y,N

Stepd > P, T,N,F, Y, A

Step5—-P,N, T, A, Y, F — last arrangement

If the arrangement at the first step of some input is O, D, K, W, G, X, then choose
the step from the options that will display the arrangement G, X, D, W, O, K.

(1) 2ond (2) 8 (3) 4tk (4) 5th

FFoegT FHFTATST AN / SPACE FOR ROUGH WORK P.T.O.
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57. &9 W @ W M TEE 23 99 IUCEY IAMEd. S GO WSWHd. IR FE A
e 3HE a feqer ot agefit A-sn o we o ?
(1) 529 (2) 506 (3) 463 (4) 484

There are 23 buses available between Dinu’s house and his school. How many ways

are possible for Dinu te go from his house to school and return using different
buses ?

(1) 529 (2) 506 (3) 463 (4) 484

58. F=iv @ wafd SR a9ee HieH Il TEfEtast 3TvEmEdl g g quiac=T It 1=
faer.

(1) D,50,A (2) B,49,A 3) €,50,A 4) C,51,B

Choose the appropriate set of numbers and alphabets that would replace the
question marks logically from triangle to outermost trapezoid.

() D,50,A (2) B,49,A 3> GC,50,A 4y C,51,B
oTal MRS ST / SPACE FOR ROUGH WORK
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59.  SIIHN GREFCITTIR TATIET ST Qe o] ST YAegiia shed. 3ifan arsviienm srEum
qaty fiaer. :

™y G

1‘f | 1

4 WA AR SN W AR A 4 z ?
VA LN SN SR SR AR AN SN AN AN AN 4

A S AR A AR AN AR AR A SR AR S

(1 (2}

(3) )

Both block objects are turned and repositioned as shown by arrows. Choose the
alternative that is like the final arrangement.

P4 5‘” . AT AR A AR 4

(1) - (2)

(4)

HETT HEHATS JNT / SPACE FOR ROUGH WORK P.T.O.
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60. UH e TERM Taren faftre grnfl feemar 9 @, ff gt Rfise femmer @ g9
w0, @rell, feoreft wmafi it ya: saree s e g e o,

facteft @t
a1
TR T
qrrd 101

Ja Ma

Ha Da

Ja

Ja Ha Da

Da Ch
Da Ja Ma Ha
Ma

Ka

Ha
Bo
Ka

Ch

Bo Ka
Ka Ch
Ch Bo
Bo Ma 3ATf0r a1 yml,

R feciear gmmfiht @it 1T, ‘ga re bu la ra hi hai’ 3@, R I0a yE=mde FrmrERr
i VIT %1 3@ ?

(1) ragahaihirelabu

(2} hairagabuhirela

(3} hirahaigalabure

(4) ra haigahirelabu

A word arrangement machine when given a particular input, rearranges it, following

a particular rule. The following is the illustration of the input and the steps of

arrangement.

Input : Ja
StepI : Da
StepIl : Ha
Step III: Ja

Ma Da
Ja Ma
Da Ja

Ha Da

Ch

Bo
Ka
Ch

Bo

Ka
Ch
Bo

Ma and soon.

If ‘Step II’ of an input is ‘ga re bu la ra hi hai’, what would be the ‘Step VII’, as per
the rule followed in the above steps ?

(1) ragahaihirelabu

(2) hairagabuhirela

(3) hirahaigalabure

(4) rahaiga hirelabu

FEedT FTHTEIS! AR / SPACE FOR ROUGH WORK
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61. @l 9r Fum it aw frewd 1 11, 11T onfor IV fooiet smea. fosiean feumm o= arg,
festean Frepwiieht Fiomar/woe feed Reean fauamm sshana e td!/Fdar, T
Mg vl e
faerm :

A,  Td HE Gk T8,

q.  HE TR U TR

. Ed U ufet SR

5. wd el @ts ™R oaT.

5

I S e W I IR

I 8 HATE Uil .

1. &4 @ig T U9 o7Ee.

IV. & 95 HTg 3T

(1) w5 1T o i

(2) e I 37fer 1V 31gerer il

(3) e II arfor ITT STER hial

(4) I, II, ITT 37f7 [V, §e a0 i A8
Four statements and four conclusions I, II, I and IV are given. Considering the

statements to be correct, select the correct alternative about the conclusion(s}, which
is (are) logical deduction(s) of the given statements :

Statements :

a.  All papers are books.

b.  Some books are pens.

¢.  All pens are pencils.

d. All pencils are erasers.
Conclusions :

L. Some erasers are papers.
II. Some papers are pencils.
ITI. All erasers are pens.

IV. Some pens are papers.

(1) Only Il is deduced

(2) Only I and IV are deduced
(3) Only Il and III are deduced
(4) L II, III and IV all are not deduced

FHoThl BHTAIS! ST / SPACE FOR ROUGH WORK P.T.O.
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62. T feaeh mifves T wwamEt sfaa sfom fasr

S

Al

o, 030.0.0
< I o

IR~

), 9000

00000
PPy
()

XX XX

o

v

o AWL AWFLA A

(1)

af

(X XXX X
B ol >
>.+.¢.+.¢.¢.<

I SRR ]
go.o 90,
4 <

Y Y v Y Y 4
Sesees
< >
bt ot
( ()

bttt s
(L LLLX
_ 0. 000
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63. oo wew frasn.

(1) (2)

(3)
Choose the odd object.

(2)

(3) {4)
FT] HTHTEIS ST / SPACE FOR ROUGH WORK P.T.O.
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64. e wd weg, SET WVIAEATSHIY HIGT fafgeel smad. waw 1 omifor 11 wefie wisg
Mo S7e A= U AN I, I AT, Hihfaw W esgd ‘REACT’ I IIegrel JuTsHy

Tyl Ty I
TAPE moij
COUP Ihhpok
TIE nls
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khliph

SIP hrp
TYRE pmlh

(1) klpih (2) kplih
(3) kplhj {4) kpilh

The words in the first colum are written in a secret manner in the second colum. The
sequence of words and letters in columns I and II may not be the same. Decode the
language and find the sequential code of ‘REACT’ from the given options :

Column 1 Column II
TAPE moij
COUP lhhpok
TIE nis
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khlph
SIP hrp
TYRE pmlh
(1) klpih (2) kplih
(3) kplhj (4) kpilh

FTT FHRAS! SR / SPACE FOR ROUGH WORK
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hR.3%

NZ S

NR 9!

(1)

Select a suitable image from the options that would replace the question mark.

(2)

(3)

(4)

A

1R6

NZS

N

(2)

(3)

(4)

WO0S
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66. T3 Rsiewn swigmuTia Wi, TN JEE ool SIS wreren s et e ar
IECE! TEI 7. qL-TIeh goare T el e fae.
CY, EV, LS, RJ, WM, DJ
HA, LD, 0OG, QP, VM, ZP
(1 1S,0G
(2) RJ,QP
(3) WM, DJ
(4) VM, ZP
In the following alphabetical sequences below, one pair that appears in the top
sequence should appear in the bottom sequence and vice versa. Choose the
alternative pair that should be changed around.
CY, EV, LS, RJ, WM, DJ
HA, LD, OG, QP, VM, ZP
(1) LS, 0G
(2) RJ, QP
(3) WM, DJ
(4) VM, ZP
67. U= Atvf et Yoo efrnfawd Sian g, o duen eunelt, SRg we ITe €y

oo @ g3AS el 0% WY gidid. S H) ATAThe €t Y gol e ™ geEees ©9
YTEas gdier. 3 fer dureRe e, s oo el fiew fash W omed =N
Ty FHt 1R, TR Gurhe BNam IR Wy w arwde o a1 gatws fien 149 €y s
T e frct ¥ amrea 2

(1) 27 2y 29

3 31 4y 43

Five friends were discussing about their treasure of stamps. Anu said to Deepa, ‘If
you give me eight stamps then you will have the same number of stamps that Lali
has. If T give you my sixteen stamps then you will have stamps equal to those of
Shama.” Total number of stamps that Anu and Deepa have is less than the number
of stamps that Shama and Lali have. If Deepa has four stamps less than those of
Mary and the total stamps that all these friends have is 149, then how many stamps
does Deepa have ?

(1 27 2) 29
3y 31 (4) 43
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68. HvEMEd SHeled Fefaih e fem v waR Wik, foaw freg v e wig, g
st = v Wi onfo wyr S fiem U diwe™ Wiz, IvH uEw 108 Wigt e
UEe. AR HIVETET g S el a1 hHl usen A1Et a Ugv Ry gl AsEnien
Jufeerd g ?

(1) 30 (2) 60 (3) 90 (4) 120

Relatives who had gathered for a party had one bowl of rice between two, one bowl of
dal among three, one bowl of vegetable among five and one bowl of shreekhand
among six. In all they ordered 108 bowls of eatables; and no food was wasted or was
it short. How many relatives were present for the party ?

(1 30 (2) 60 (3) 90 (4) 120

69.  SIETRN GRS SHHTUHT JIIEA HNETEE HIoiehT Tl e,
PATNWGXMQIRCHKJSYULZVBFO
Hifer#1 :POZT, ?, HYJR, LCRU

JeAfagreat St qehlg vate fasn.
(1) MUJG (2) XvVvua
(3) GVUG (4) XVYW

A series of group of letters is designed using the following sequence of letters.
PATNWGXMQIRCHKJSYULZVBFO

Series: POZT, 7, HYJR, LCRU

Choose the logical option to replace the question mark ?

(1) MUJG (2) XVUG

3) GVUG 4 XVYW

70. 5 Negen fqwe ST AR, A 9 Negedl I ST R, 9 M ST Sl 39
U hell hl yTar qEEt Fave faed. s v @ 70 @@, 9t Teguan WA AHeRN
A, T TrogueT g auil Wier 318 | 9 fod) 2

(1 5 (2) 7
(3 9 4 11

Jay is three times older than Gave. Aman’s age is twice of that of Gave. Addition of
Jaya's and Aman’s age is half of Shammi’s age. If Shammi’s age is 70, then what is
the age of Dyan who is two years older to Gave ?

5 @ 7
3 9 | @ 1

T BRG] ST /| SPACE FOR ROUGH WORK P.T.O.
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92 O oW 9 e o1, 9 9 % § Teae ol oga. 3R 9 faum 3 Tdess 5o A
3Ted Jfor ft A et o safidh omed a1 A Fmn flw e wrgER watEEh
fas wu o,

fargr7 - T lETITIE S SeRET HeR § “x” I YT g 37T,

eI
. “x” g HfiE e g .

g. fraerhid v 60% TAERH! Tag S,

%, SRHT “x” g wa et ®wRo @ “x” v Hagvsw Sdremaret favam dae.
(1) Wed A G o JAdHeId 384 (2) ad & g % IdHEIT R

(3) w9 Jmfigi 3med (4) Teler o Safigia A

Below is given a statement followed by assumptions a, b and ¢. You have to consider
the statement and the following assumptions to be true and decide which of the
assumptions is implicit in the statement and choose your option accordingly.

Statement : More than two-third of Parliament members are members of party “x”.
Assumptions :

a. None of the members of party “x” is corrupt.

b.  Only 60% of voters cast their votes in the election.

(1. 1)

c.  People voted for party “x” because they believed in the election manifesto of the

6,1

party "x".
(1) Only a and ¢ are implicit (2)  Only b and ¢ are implicit
(3) All are implicit (4) None of these is implicit

72.

dues, ¥ 36,000 THma smeel Tget fawar. @ ufdem 20,000 THER 8% e @y, aifir
A=A 10,000 FTEEL 5% FE dal. [ HHH 7% T <HA Heummn THHgal T@E
Tresfevamadt Tfgsrean 6,000 s9aER & fd | Tt ?
(1) 5% (2) 6%
(3) 1% (4) 8%

Deepak sells a scooter priced at ¥ 36,000. He gives a discount of 8% on the first
Z 20,000 and 5% on the next ¥ 10,000. How much discount should he offer on the
remaining ¥ 6,000 if he is to allow 7% discount on the total ?

(1) 5% (2) 6%
(3) 7% ‘ 4) 8%
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73. Towdia 5 9ict, 4 et onifT 6 R dg smEa. W Frewiqy sFmaERm fW O Fed. @ ¥ =g
& sl gvreaar FEfm swmn yaty fas,
(1y 1/91 2 2/9
(3) 3/91 4) 4/77
There are 5 white, 4 red, and 6 blue balls in the bag. Three balls are drawn at

random from the bag. Choose the option that represents the probability that all of
them are blue.

(1) 1/91 2y 2/91
(3) 3/91 4) 4/77

74. 2000 T fees fer Teardt g @ 2001 At SSEETS &7 wiven st g 2
(1) quar :

(2) TEAX

(3) ThaAT

(4) Tar

If Teacher’'s Day was on Thursday in the year 2000, then the Republic Day was on
which day in the year 2001 ?

(1) Wednesday

(2) Thursday

(3) Friday

(4) Sunday

75. U B¢ foAd a1 R w320 fedi/anht am s@. g1 40 fedyasht 9 s 9w
3R, IR ga=a o feden ann wwam g 135 e wmEm. T fammen g
e g fege amn woww TRt w2 (fiftem) oe 2 (Sgevr 3 Sftrfet Juam wemom

55 TT T o)
(1) 945 (2) 105
(3) 108125 (4) 120

A small aeroplane can travel at 320 km/hour in still air. The wind is blowing at a
constant speed of 40 km/hr. The total time for a journey against the wind is
135 minutes. What will be the time taken in minutes for the return journey with the
wind ? (Ignore take-off and landing time)
(1) 945 (2) 105
(3) 108-125 . (4) 120
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76. TN WTA UH ¢S HE U ardw fi forft ol wmai=an swiifesadt A9 @
) A e T il it e 88 SFeda. fawrde v Seeer st e
T Freendier v wefommerrear mEifase faummen a1 woe=n snaw F67 FAE d49n
RIS HFE. I TFITATSAT AR eat
(1) Wéﬂ#’ﬁ TETet, e A1 URiCudeTed e SO S A HuEEeTid
T,

(2) Srafores TR AEdA A AREIST ey TN I TG .
(3) Wmﬁmﬁaﬂuﬁwmﬁwmammm

(4) mmwﬁammaammﬁﬁmmmmﬁw

There is temple in your area and many different gender persons reside in this area
for making their living by exhorting money by creating fear in the minds of other
people. As a responsible officer of the area you request the head of the Psychology
Department of one college in the district to study the problem and prepare a report.
On the basis of this report you will

(1) approach responsible institutions for organizing programmes to make people
aware of this situation.

(2) with the help of educational institutions organize skill training programmes for
these people.

(3) approach leaders of these persons and with the help of experts help them to
acquire skills and become entrepreneurs.

(4) approach leaders of these people and ask them to stop inculcating superstitions
in the minds of people.

77. TS FRAA Th A e aw gd UG T Al gE-AT €HEl g, gEe
EHIAE TF T2 T Q4] SFhiell cgred [CHUATaEA, A=A UEUSHTSRe Seel FAM & T
TEIEY BT, AT G,

(1) 1 T GEHT Eom ATE S T swe.
(2) =0 el T wuer o g g AT O INHR WRhITn FF dled AEE ¥ TS

I Hed e,

(8) = 2 smhislt Al st anfr =T WA SR Tra et = s Il e
TR STeETe.,

(4) qo=aT FISHT AT TN IO SAFGUst HEHIHAIYE IITEAT HEa QUATETS] IR
st oAt faadt .

In your office there is one person of a different race and another person from a

different religion. A group of your colleagues make fun of them due to their

appearance and way of dressing and make them uncomfortable. You will,

(1) not join this group and keep quiet.

(2) Dbefriend this group and slowly help them understand how a person feels of this
treatment. ‘

(3) befriend both these persons and give them emotional support and save them
from taking any extreme step.

(4) request your seniors to organize some programme to help them to be
empathetic with all persons.
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78.  TEE 49T WA auelen g i Y qerd It s It watyd Al siferreR @ e AE
33 FTHHW A AR § KA @S AR, Siog] THI GRE FHUATHET, Tl 2 HMH TEM
ST AREIHE oW dew R g wifee 6 e SRd S e & @
AN HIORE Fdll & WHR AE. fom greren @ wiffaet 1 wgar e I sy
(1) 31 FfoehraT=aT Ho SrEgd Fal T FHIrEl vy FoaETdt e Fisin Hie wET.

(2) TER=A, W WrEdAr AEae @Y SiuEmen d SOaTeEi T Sten S
vgdten fatty gefavmt org @ =mis e Uy 3 wEiiies MRy yaa S

(3) TE, Yeri MM 3139 SMiqy AW ST AlhIeA] AAg A 9 WA JSEg=T IR

(4) wRieadigs saw B4 @a: A anfa gEd el 9 WiadTer=al SETeer] Sl Ho
Higd =

You are residing in the area where many leaders and goons are engaged in illegal
constructions and hawking by pressurising civil officers. When you went to lodge a
complaint with the officer in charge she told you that she is not in a position to take
any action for want of any protection against these people. She also tells you that
government usually makes such types of illegal work legal by making necessary

changes in the laws. You will,

(1) blacken the face of the officer for protesting against inaction on her part under
some pretext or the other.

(2) publish articles and cartoons in local newspapers and through social media
about the trend of government giving protection to illegal constructions and
hawking on private lands.

(3) organise pressure groups against nexus of goons, leaders, and people getting
profits through illegal constructions and officers who are not ready to execute
their responsibilities.

{4) frustrated with the situation you will join a yoga class and stop worrying about
the mess around you.
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79. & 9 guean ARV e vt Rrsagdaid! el sen AR Sl g SRt whie e
ForEd! T gerEden e el o, & g e gaes R s e
A, guel Bfw € gEeumes maw eR. Wt dfud oEn oeielt I W grrien
yrErevaEdt o et e gan @y e Oe ange. @ fraees fen gee e o
My 9 e e g& 3o A5

(1) T goErdien SR g i grean afofar frsrged freg o

(2) Jre gemadien e i 1 qeen ae grelt @ aftden gaean Afifien e v
Tt .

(3) W gt fae el | Rt wiwmre snftr geean Bffien snfde reg @ne.

(4) W T gl @ - sl witdifvem, wewrlt &% o9 o fEd sue. anfa
Afefar M9 sreea e gea wUe.

You and your friend had applied for one prestigious scholarship and you have been
invited for interview for selecting one among you. This scholarship is an indication of
‘your academic capabilities. Your friend is equally competent. She comes from a
disadvantaged group and she and her family worked very hard to reach this stage.
She is in dire need of this scholorship and only then can she continue with her

studies. You will
(1) not appear for the interview and allow your friend to get the scholarship.

(2) appear for the interview and if selected request the ce mmittee to award it to

your friend by considering it as a special case.
(3) accept the scholarship if selected and help your friend financially.

(4) request the committee to allow both the persons to share the award if selected

and help your friend financially if necessary.
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80. faym Reafrll wvm greaee foeffla gat fomrh 98 sreca=n % ol
OIRIE 3 TehgA SNedl ITRd. qrgiell WIga 372 i Wil § "elfeened uhisaedia
faeneatar emn FroreTdl ST ITHEATE Jagd AER I NS W I AfFw g
FHIY L0, QUITAT g6 3Ugad SV, ST Haieh 9 siigeh T AT g ST
fowrft yarfga Bge. oFs ferviaefi faadl 2 srer 9 werformeaT=n SRt Smed St §
Froregt wfomifam ywem 9 vodt e =w oEe swaa. T g Siva 39
FOIA MU T ?

(1) % 1 719 A A 39 Uiy GeevTh saaeT S,

(2) 91 B HRUTHTA M §Fh! AT ®EA, A = T wHied wUEdT HEd 23,

(8) Tiaes Manwdhim duea faadt w&7 famt g qefie B s s amiives
ST TEWIT e TR |,

(4) T 3 gt 3@ UE0E SrcvaTt EAT .

~As the Collector of the area you have received many complaints of eve-teasing by
teenagers from many groups of society. You are familiar with the fact that schools
and colleges fail to engage adolescent students in any constructive learning
programme that channelizes their energies in some personally fulfilling and socially
useful, creatively and intellectually demanding work. Many of the adolescents are
out of the schools and colleges, they dream of a wealthy and comfortable life without
any effort. What will be your priority to solve this problem ?

{1)  Arrange for police protection in the areas where this menace is rampant.

(2)  Arrange group meetings of eve-teasers, help them to organise groups and assist
them to engage in constructive work in the area with the help of various youth

schemes.

(3 Request selected non-government organizations to involve eve-teasers in some

constructive social work.

(4) Suggest the women and girls to dress appropriately.
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(8) wvgferrsd fifka Foen fafive Irfe = *@ (16 35) 3. IyfEhsafair Iowfida a1 wm
FHIETE Fo HH FodTd o Hil I I F TR, I AHE A d IHER SHEATER T
Tl e C‘wlimtae g eI Yiden HaEe Aiatan-82" ardid TgdgEn SR
T 561 9 QA e AT T auieAn SuErEreAy /e 999t a9 WeEea e e
T EE. '

(9) u yuBFEEE s fafka Foieh @ TueAHa Ieaen § ey @0 smt STt

USd TEE WA TR, WA T{sTesTael SUaTqdl IHTER  oNaedT IARiehET WRT-1
TGRS A AR e S S g,

¥.%. 201.

9. k. 201.

oiqolT Ul
wefreft w1 T FRoETEndt Fivf gora: YEE A ?
(1) & ggHe gueEdt (2) Yy faemamR
(3) T THEEA 1 (4)  TIATESEHST TG

A W A I C(3) T T U e SR, TS W W Iw 3) Arda,

T WA T 3. 201 TS SWHEAE @) B Id@ S SEifRd wET
TrEfem) 7w IR,

© @ @ ©

I UEHN TEqE SeyfGEhdia T WIS gEeEl JA-HIh g1 JRRTe waaaiel eeied
JaChaie T W THRAREES dafud ades qUiue SrEifed HEA SRaaal. ETRiET
e TTed] WIS derd amuare, Ufer a1 mde U 9oE o,
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